DInLe

Installation and Operating Instructions / 2234 i BA

CANDIA

Pole-top luminaires / #FT5KT
Catenary suspended luminaires / £ &¥T

Installation and Operating Instructions
Z= ¥ # B i B

Version 2022.1

The right is reserved to change specifications without prior notification or public announcement. 10of 5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

9 10x xx xx Candia

220~
240V

Class|

Rar8o CE res 1K

——F0400-—

1 D—o152
8 (&) aooaa8

—=1200/=—

-
EY

Important Information /| EE{EE

shall be subject to national and international regulations.

DMK FRAIEAEF E R L AT ATER IR ERER T

ARTERERRMAGRAZENEZEN DMK RIGHI= M0

FiEAENANBTMEEE, BABITEM, BHUZYHE,

5. If in doubt, please contact the supplier.

mAEREE, HEHMEHEKR,

A= RBREMBH TIERRERERE B, RENREMREERATERMERER,

2. DMK is not liable for any damages resulting from improper or unskilled conduct.

1. The installation and maintenance of the product can only use the original parts, and the installation and operation of the equipment

3. Only qualified installation personnel are allowed to assemble and install products obtained from the DMK.

4. The contents of this manual are subject to change without prior notice. Please refer to the material in kind.

Toolings / TH

+pigeLT] 6/8mm WAMIRT

=R

o

30mm FORF

Recommended Installation Procedure / #F R idi2

1. Connect the Bracket with the pole and fix it (3-M10x20 inner
hexagon screw, 3-10 flat washer, 3-10 Spring washer).
BITEEE SITTEREEE ( 3-M10x20 AARIEET;

3-10 FH[E; 3-10 MERE ),

The right is reserved to change specifications without prior notification or public announcement.

20f5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



DInLe

Installation and Operating Instructions / %2 %% {& Fi5% BA

2. Fix the fixture to the bracket. Put the cable into the pole.
(4-M8 hexagon socket screw; 4-8 flat washer; 4-8 Spring washer) .
BATKEEERE L, BSRFNT. (4-M8 HRAEET;
4-8 FHE; 4-8 WERME ),

3. Fix the pole to the foundation. (4-M20 nut, 4-20 flat washer,
4-20 Spring washer) .
BATH S EREREE
4-20 MERE ) .

(4-M20 #28}; 4-20 FEE;

Recommended Installation Procedure / #F R332

4. Open the access door with the triangle key and connect the
220V power supply.
R=RAARITIFATRIE], & 220V BiE,

This step should be operated by professional personnel to
avoid electric shock.

ESBREHEWANRRE, UEREMBRER,

\

Brown Yellow / Green Blue
i

S
\

AN

The right is reserved to change specifications without prior notification or public announcement.

3of5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

9 10x xx xx Candia 200 | @ |l Rasgo €

IP6 1K
240V | |Class| 5

f—360——~

|~—230—~| f———460———1
|=—180—1

Important Information /| EE{EE

1. The installation and maintenance of the product can only use the original parts, and the installation and operation of the equipment
shall be subject to national and international regulations.

A= RBREMBH TIERRERERE B, RENREMREERATERMERER,

2. DMK is not liable for any damages resulting from improper or unskilled conduct.
DMK 7R 7B A [E 7R & S R AR T A TE R IR B R T o

3. Only qualified installation personnel are allowed to assemble and install products obtained from the DMK.

ARTERERRMAGRAZENEZEN DMK RIGHI= M0

4. The contents of this manual are subject to change without prior notice. Please refer to the material in kind.

FiEAENANBTMEEE, BABITEM, BHUZYHE,

5. If in doubt, please contact the supplier.

mAEREE, HEHMEHEKR,

Toolings / TH

+FELT] 5 mm HRAEIRF 4-M6 M 7<FIRET 4-6 BERE

Recommended Installation Procedure / #F R idi2

1. Fix the fixture on the embedded part with M20 nut and 20mm flat pad.
A (4-M6 MfIRET; 4-6 MERE ) WATERARIREEENL
B/, BHREREFANNLEA,

Keep the pole perpendicular to the ground.

ESBREHEWANRRE, UeREMBER,

The right is reserved to change specifications without prior notification or public announcement. 40f5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



Dm(. Installation and Operating Instructions / 2234 i BA

Recommended Installation Procedure / #F R332

2. Remove the waterproof connector and connect the 220V power cable.

WRAKEELIFRT, & 220V iRk,

This step should be operated by professional personnel to
avoid electric shock.

ESREHEWANRRE, UEREMBRER,

The right is reserved to change specifications without prior notification or public announcement. 50f 5

DMK Technology (Shanghai) Co., Ltd. - info@dmklighting.com - www.dmklighting.com



